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Question Bank

1. What is the probability of an impossible

event?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FBt4MKlHemgx


A. 0

B. -1

C. 1

D. 

Answer: A

Watch Video Solution

∞

2. What is the perimeter of a semi-circle with

radius r?

https://dl.doubtnut.com/l/_FBt4MKlHemgx
https://dl.doubtnut.com/l/_bohyD6oMn01C


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2πr

2πr + 1

πr + 2r

2πr + 2r

3. If the circumference and the area of a
circle

are numerically equal, then diameter of the

circle is
(a) 
(b) 
(c) 
(d) 
π

2
2π 2 4

https://dl.doubtnut.com/l/_bohyD6oMn01C
https://dl.doubtnut.com/l/_Pwfe7c20uqbk


A. 4 units

B. 5 units

C. 2 units

D. 

Answer: A

Watch Video Solution

units
πr

2

4. For a circle having radius r, what is the area

of quadrant?

https://dl.doubtnut.com/l/_Pwfe7c20uqbk
https://dl.doubtnut.com/l/_BYezorZtadX7


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

πr

2

(πr2 + 2r)

πr2
1

4

πr2
1

2

5. Two positive integers expressed as 

and , where a and b are prime

numbers. Then the LCM of p and q is:

p = ab2

q = a2b

https://dl.doubtnut.com/l/_BYezorZtadX7
https://dl.doubtnut.com/l/_YgqkexYFi6YX


A. 

B. ab

C. 

D. 

Answer: D

Watch Video Solution

b2

a3b3

a2b2

6. If  is a quadratic

polynomial then, the sum of zeroes of the

quadratic polynomial is:

f(x) = x2 − px + q

https://dl.doubtnut.com/l/_YgqkexYFi6YX
https://dl.doubtnut.com/l/_YXX9EpXOHdMb


A. 

B. p

C. q

D. 

Answer: B

Watch Video Solution

−p

−q

7. The decimal expansion
 of the rational

number 
 will terminate after how

many places of decimals?

43

24 × 53

https://dl.doubtnut.com/l/_YXX9EpXOHdMb
https://dl.doubtnut.com/l/_1k6e3Ig2lehE


A. 4

B. 3

C. 2

D. 6

Answer: A

Watch Video Solution

8. Write the zeros of the polynomial


.x2 − x − 6

https://dl.doubtnut.com/l/_1k6e3Ig2lehE
https://dl.doubtnut.com/l/_uEemjLdmtj0I


A. 

B. 2, 3

C. 2, 3

D. 

Answer: A

Watch Video Solution

−2, 3

−2, − 3

9. Degree of a polynomial in one variable in a

polynomial in one variable the highest power

of the variable is called its degree .

https://dl.doubtnut.com/l/_uEemjLdmtj0I
https://dl.doubtnut.com/l/_gZwtUbiYG7oq


A. Power

B. Degree

C. Zero

D. None of these

Answer: B

Watch Video Solution

10. If area of quadrant of a circle is ,

then find its radius. 

154cm2

(useπ = )
22

7

https://dl.doubtnut.com/l/_gZwtUbiYG7oq
https://dl.doubtnut.com/l/_lRx5xNzsCTKK


A. 7

B. 49

C. 14

D. 28

Answer: C

Watch Video Solution

11. Two friends were born in the year 2000.

What is the probability that they have the

same birthday?

https://dl.doubtnut.com/l/_lRx5xNzsCTKK
https://dl.doubtnut.com/l/_1iQWCOVPMnRd


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

1

366

2

365

1

365

12. Find the probability of getting a head in a

throw of a coin .

https://dl.doubtnut.com/l/_1iQWCOVPMnRd
https://dl.doubtnut.com/l/_03vJrXx4CjVO


A. 1

B. 

C. 0

D. None of these

Answer: B

Watch Video Solution

1

2

13. What are the value of x and y for the pair of

linear equations  and 

?

2x + 3y = 2 x − 2y = 8

https://dl.doubtnut.com/l/_03vJrXx4CjVO
https://dl.doubtnut.com/l/_VCFZWe9tAZrr


A. 4, 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

−4, 2

4, − 2

−4, − 2

14. If the quadratic equation 

has equal roots, then what is the value of k?

x2 − 3x + k = 0

https://dl.doubtnut.com/l/_VCFZWe9tAZrr
https://dl.doubtnut.com/l/_yolRPvgqjmya


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−4
9

−9

4

9

4

4
9

15. If x=3 is one root of the quadratic equation

, then find the value of kx2 − 2kx − 6 = 0

https://dl.doubtnut.com/l/_yolRPvgqjmya
https://dl.doubtnut.com/l/_C4UAN5UsCkOL


A. 1

B. 

C. 2

D. 

Answer: D

Watch Video Solution

−
1

2

1

2

16. If P is a prime number, then find the LCM of

 and .P 2 P 3

https://dl.doubtnut.com/l/_C4UAN5UsCkOL
https://dl.doubtnut.com/l/_eCiI2vczCIsI


A. 

B. P

C. 

D. 

Answer: A

Watch Video Solution

P 3

P 2

P 4

17. Find the coefficient of  in 

.

x0

x2 + 3x + 2 = 0

https://dl.doubtnut.com/l/_eCiI2vczCIsI
https://dl.doubtnut.com/l/_OEOwmzgfDwXL


A. 1

B. 2

C. 0

D. 3

Answer: B

Watch Video Solution

18. Student was given the assignment to

prepare a graph of quadratic polynomial

. To draw this graph he takesy = x2 + 2x − 3

https://dl.doubtnut.com/l/_OEOwmzgfDwXL
https://dl.doubtnut.com/l/_PkHOspCKaxzH


six values of y corresponding to different

values of x. After plotting the points on the

graph paper with suitable scale. He obtain the

graph as shown below. 

A. Hyperbola

B. Parabola

https://dl.doubtnut.com/l/_PkHOspCKaxzH


C. Ellipse

D. None of these

Answer: B

Watch Video Solution

19. Student of class x are on visit of Sansad

Bhawan. Teacher assign them the activity to

observe and take some pictures to analyses

the seating arrangement between various MP

and speaker based on coordinate geometry.

https://dl.doubtnut.com/l/_PkHOspCKaxzH
https://dl.doubtnut.com/l/_LFleaWtYHV04


The staff tour guide explained various facts

related to Math's of Sansad Bhawan to the

students, students were surprised when

teacher ask them you need to apply

coordinate geometry on the seating

arrangement of MP's and speaker. 

A. 

B. 6.4

C. 5

√30

https://dl.doubtnut.com/l/_LFleaWtYHV04


D. 7

Answer: B

Watch Video Solution

20. If in , AB=9 cm, BC=40 cm and AC =

41 cm then the  is a/an

A. Acute angled triangle

B. Right angled triangle

C. Obtuse angled triangle

ΔABC

ΔABC

https://dl.doubtnut.com/l/_LFleaWtYHV04
https://dl.doubtnut.com/l/_4PNLuTCX3Luf


D. Isosceles triangle

Answer: B

Watch Video Solution

21. Find the coordinates of the point which

divides the join of  and 

in the ratio 

A. (1, 3)

B. (3, 1)

A( − 1, 7) B(4, − 3)

2: 3.

https://dl.doubtnut.com/l/_4PNLuTCX3Luf
https://dl.doubtnut.com/l/_0FjIlO1j6RXv


C. (2, 5)

D. (4, -3)

Answer: A

Watch Video Solution

22. The zeroes of a polynomial p(x) are

precisely the x-coordinates of the points,

where the graph of y=p(x) intersects the:

A. x-axis

https://dl.doubtnut.com/l/_0FjIlO1j6RXv
https://dl.doubtnut.com/l/_ZIEXy7uWvZFm


B. y-axis

C. origin

D. none of these

Answer: A

Watch Video Solution

23. What is the ordinate of a point on the y-

axis?

A. A positive number

https://dl.doubtnut.com/l/_ZIEXy7uWvZFm
https://dl.doubtnut.com/l/_cv628aayAvdS


B. A negative number

C. Zero

D. All the above

Answer: D

Watch Video Solution

24. If  and  are the zeroes of the polynomial

, then the value of 

α β

x2 − 2√3x + 3

α + β − αβ :

https://dl.doubtnut.com/l/_cv628aayAvdS
https://dl.doubtnut.com/l/_ls4JeyIjYXNJ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4√3 − 3

2√3 − 3

4√3 + 3

2√3 + 3

25. The distance between the points (m,-n) and

(-m,n) is

https://dl.doubtnut.com/l/_ls4JeyIjYXNJ
https://dl.doubtnut.com/l/_wsFHJaVCyYwN


A. 

B. m+n

C. 

D. 

Answer: C

Watch Video Solution

√m2 + n2

2√m2 + n2

√2m2 + 2n2

26. The perimeter of a tringle with vertices

(0,4),(0,0) and (3,0) is

https://dl.doubtnut.com/l/_wsFHJaVCyYwN
https://dl.doubtnut.com/l/_rwzK6Yba04iX


A. 

B. 5

C. 10

D. 12

Answer: D

Watch Video Solution

7 + √5

27. The zeroes of the quadratic polynomial

 are:x2 + 99x + 127

https://dl.doubtnut.com/l/_rwzK6Yba04iX
https://dl.doubtnut.com/l/_SS5RNNv4BSol


A. Both positive

B. Both negative

C. One positive one negative

D. Both equal

Answer: B

Watch Video Solution

28. The distance of the point (-3, 4) from x -axis

is

https://dl.doubtnut.com/l/_SS5RNNv4BSol
https://dl.doubtnut.com/l/_FXQzJ8flNIDE


A. 3

B. -3

C. 4

D. 5

Answer: C

Watch Video Solution

29. Let p be a prime number and a be a

positive integer. If p divides ; then p divides

a.

a2

https://dl.doubtnut.com/l/_FXQzJ8flNIDE
https://dl.doubtnut.com/l/_ldvYGQb8IZsf


A. 

B. k

C. 3k

D. None of these

Answer: B

Watch Video Solution

2k2

30. A real number a is a zero of the polynomial

f(x) if:

https://dl.doubtnut.com/l/_ldvYGQb8IZsf
https://dl.doubtnut.com/l/_0NwjIndE8NUw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(a) > 0

f(a) < 0

f(a) = 0

f(a) ≥ 0

31. If an event cannot occur, then its

propbability is

https://dl.doubtnut.com/l/_0NwjIndE8NUw
https://dl.doubtnut.com/l/_dLBsZupjFwAK


A. 1

B. 1/2

C. 3/4

D. 0

Answer: D

Watch Video Solution

32. If a is a zero of f(x) then, _____ is one of the

factors of f(x).

https://dl.doubtnut.com/l/_dLBsZupjFwAK
https://dl.doubtnut.com/l/_hTFAsCzgVlxf


A. (x-2a)

B. (x-a)

C. (x+a)

D. (2x-a)

Answer: B

Watch Video Solution

33. If A and B are the points

 respectively, then

the
distance 2AB is equal to

( − 6, 7) and ( − 1, − 5)

https://dl.doubtnut.com/l/_hTFAsCzgVlxf
https://dl.doubtnut.com/l/_qvBuZRoKKLHF


A. 13

B. 26

C. 169

D. 238

Answer: B

Watch Video Solution

34.  is:

A. a rational number

√7 − 3 − √2

https://dl.doubtnut.com/l/_qvBuZRoKKLHF
https://dl.doubtnut.com/l/_yoRVr4HeRmxz


B. a natural number

C. equal to zero

D. an irrational number

Answer: D

Watch Video Solution

35. A man goes 12 m due West and then 9m

due North. How far is he from the starting

point?

https://dl.doubtnut.com/l/_yoRVr4HeRmxz
https://dl.doubtnut.com/l/_KA8Z2tpVVJ6H


A. 12 m

B. 15 m

C. 18 m

D. 24 m

Answer: B

Watch Video Solution

36. If  then find

the value of 

x = a sin θ and y = a cos θ

x2 + y2

https://dl.doubtnut.com/l/_KA8Z2tpVVJ6H
https://dl.doubtnut.com/l/_5cRrB1ZYNgRQ


A. b

B. 

C. 1

D. None of these

Answer: B

Watch Video Solution

b2

37. The point on x-axis which is equidistant

from (-4, 0) and (10, 0) is:

https://dl.doubtnut.com/l/_5cRrB1ZYNgRQ
https://dl.doubtnut.com/l/_NSht1daTVjb0


A. (7, 0)

B. (5, 0)

C. (0, 0)

D. (3, 0)

Answer: D

Watch Video Solution

38. If H.C.F. (a, b) = 12 and , then

L.C.M. (a,b)=

a × b = 1800

https://dl.doubtnut.com/l/_NSht1daTVjb0
https://dl.doubtnut.com/l/_OUnatO5EA5uU


A. 120

B. 150

C. 160

D. 200

Answer: B

Watch Video Solution

39. ABCD is a rectangle whose three vertices

are B(4, 0), C(4, 3) and D(0, 3). The length of

one of its diagonals is

https://dl.doubtnut.com/l/_OUnatO5EA5uU
https://dl.doubtnut.com/l/_YTX2hEn7aYqq


A. 4

B. 5

C. 3

D. 25

Answer: B

Watch Video Solution

40. Simplest form of (1+ A)/(1+`cot^2'A) IS

A. 

tan2

sec2 A

https://dl.doubtnut.com/l/_YTX2hEn7aYqq
https://dl.doubtnut.com/l/_AX3Hao2CLAq5


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

cot2 A

tan2 A

41. Case Study-1: A big match of baseball is

going to happen. For this a field need to be

prepared. The field is somewhat triangular in

shape with a semi-circle as shwon in the figure.

https://dl.doubtnut.com/l/_AX3Hao2CLAq5
https://dl.doubtnut.com/l/_UCpbIS6CtKmk


 


The area in which pitch is to be made is APRQ

where P and Q are two points on boundary. As

it is an important game, so dimensions need

to be perfect and hence . We

have AP=2x cm, AB=x+4 cm, PQ=x cm and BC=7

cm. 

Answer the following questions: 

=
AP

AB

AQ

AC

https://dl.doubtnut.com/l/_UCpbIS6CtKmk


Which of the two similar  will be used to

calculate the dimensions of the field?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Δs

ΔPQR and ΔAPQ

ΔPQR and ΔABC

ΔAPQ and ΔABQ

ΔAPQ and ΔABQ

https://dl.doubtnut.com/l/_UCpbIS6CtKmk


42. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

cotagent are simply the reciprocals of the

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

shown in the table below: 

α

https://dl.doubtnut.com/l/_r3uyGp1I01CQ


 


 


What is the value of , when the

values of  and  are respectively  and 

?

A. 1

B. 1/2

sinα + cos β

α β 30∘ 60∘

https://dl.doubtnut.com/l/_r3uyGp1I01CQ


C. 2

D. 0

Answer: A

Watch Video Solution

43. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

https://dl.doubtnut.com/l/_r3uyGp1I01CQ
https://dl.doubtnut.com/l/_BwbJo4TDLS3d


cotagent are simply the reciprocals of teh

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

shown in the table below: 

 


α

https://dl.doubtnut.com/l/_BwbJo4TDLS3d


 


Find the value of .

A. 0

B. -1

C. 1

D. 1/2

Answer: B

Watch Video Solution

(sin2 300 − sin00)

(cos2 90∘ − cos2 60∘ )

https://dl.doubtnut.com/l/_BwbJo4TDLS3d


44. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

cotagent are simply the reciprocals of teh

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

shown in the table below: 

α

https://dl.doubtnut.com/l/_zHeuIOls5zcf


 


 


If  and , determine the value

of .

A. 

B. 

C. 

α = 90∘ β = 60∘

sin2 α + sin2 β

4
5

3

5

7
4

https://dl.doubtnut.com/l/_zHeuIOls5zcf


D. 

Answer: C

Watch Video Solution

5

3

45. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

cotagent are simply the reciprocals of teh

https://dl.doubtnut.com/l/_zHeuIOls5zcf
https://dl.doubtnut.com/l/_sQSmyQBrOSJl


trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

shown in the table below: 

 


 


α

https://dl.doubtnut.com/l/_sQSmyQBrOSJl


If both , find the value of 

.

A. 1

B. 2

C. -1

D. -2

Answer: A

Watch Video Solution

α and β = 60∘

sin2 α + cos2 β

https://dl.doubtnut.com/l/_sQSmyQBrOSJl


46. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

cotagent are simply the reciprocals of teh

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

shown in the table below: 

α

https://dl.doubtnut.com/l/_XizeG6URTq05


 


 


If in the triangle ABC the lengths of sides AB

and BC are in the ration of 13:5, find the value

of cosec .

A. 

B. 

α

5

13

8

13

https://dl.doubtnut.com/l/_XizeG6URTq05


C. 

D. 

Answer: D

Watch Video Solution

8

13

13

5

47. What is the probability of an impossible

event?

A. 0

B. -1

https://dl.doubtnut.com/l/_XizeG6URTq05
https://dl.doubtnut.com/l/_ddJdcJZzvxaX


C. 1

D. 

Answer: A

Watch Video Solution

∞

48. What is the perimeter of a semi-circle with

radius r?

A. 

B. 

2πr

2πr + 1

https://dl.doubtnut.com/l/_ddJdcJZzvxaX
https://dl.doubtnut.com/l/_5jb0hkMd8zxn


C. 

D. 

Answer: C

Watch Video Solution

πr + 2r

2πr + 2r

49. If the perimeter and the area of a circle are

numerically equal, then the diameter of the

circle is

A. 4 units

https://dl.doubtnut.com/l/_5jb0hkMd8zxn
https://dl.doubtnut.com/l/_fwNhxKPxN2up


B. 5 units

C. 2 units

D. 

Answer: A

Watch Video Solution

units
πr

2

50. For a circle having radius r, what is the area

of quadrant?

A. 
πr

2

https://dl.doubtnut.com/l/_fwNhxKPxN2up
https://dl.doubtnut.com/l/_pauMxVibEJsz


B. 

C. 

D. 

Answer: C

Watch Video Solution

(πr2 + 2r)

πr2
1

4

πr2
1

2

51. If two positive integers p and q can be

expressed as  where a

and b are prime numbers, then the LCM (p,q)

is

p = ab2 and q = a3b

https://dl.doubtnut.com/l/_pauMxVibEJsz
https://dl.doubtnut.com/l/_HkGXGORGVQsl


A. 

B. ab

C. 

D. 

Answer: D

Watch Video Solution

b2

a3b3

a2b2

52. If  is a quadratic

polynomial then, the sum of zeroes of the

quadratic polynomial is:

f(x) = x2 − px + q

https://dl.doubtnut.com/l/_HkGXGORGVQsl
https://dl.doubtnut.com/l/_y8GwZtIlhToj


A. 

B. p

C. q

D. 

Answer: B

Watch Video Solution

−p

−q

53. The decimal expansion
 of the rational

number 
 will terminate after how

many places of decimals?

43

24 × 53

https://dl.doubtnut.com/l/_y8GwZtIlhToj
https://dl.doubtnut.com/l/_Vb0eyVE7JYUQ


A. 4

B. 3

C. 2

D. 6

Answer: A

Watch Video Solution

54. Write the zeros of the polynomial


.x2 − x − 6

https://dl.doubtnut.com/l/_Vb0eyVE7JYUQ
https://dl.doubtnut.com/l/_auSoAQw4CxfI


A. 

B. 2, 3

C. 2, 3

D. 

Answer: A

Watch Video Solution

−2, 3

−2, − 3

55. Name the highest power of a variable in a

polynomial.

https://dl.doubtnut.com/l/_auSoAQw4CxfI
https://dl.doubtnut.com/l/_ht2hYouVq4b6


A. Power

B. Degree

C. Zero

D. None of these

Answer: B

Watch Video Solution

56. If area of quadrant of a circle is ,

then find its radius. 

154cm2

(useπ = )
22

7

https://dl.doubtnut.com/l/_ht2hYouVq4b6
https://dl.doubtnut.com/l/_D3fdYt4yYYAe


A. 7

B. 49

C. 14

D. 28

Answer: C

Watch Video Solution

57. Two friends were born in the year 2000.

What is the probability that they have the

same birthday?

https://dl.doubtnut.com/l/_D3fdYt4yYYAe
https://dl.doubtnut.com/l/_ybmkmI1P4RGV


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

1

366

2

365

1

365

58. Find the probability of getting a head in a

throw of a coin .

https://dl.doubtnut.com/l/_ybmkmI1P4RGV
https://dl.doubtnut.com/l/_d3IAPMgJcIp8


A. 1

B. 

C. 0

D. None of these

Answer: B

Watch Video Solution

1

2

59. What are the value of x and y for the pair

of linear equations  and 

?

2x + 3y = 2

x − 2y = 8

https://dl.doubtnut.com/l/_d3IAPMgJcIp8
https://dl.doubtnut.com/l/_Pf6JKQBd2XhX


A. 4, 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

−4, 2

4, − 2

−4, − 2

60. If the quadratic equation 

has equal roots, then what is the value of k?

x2 − 3x + k = 0

https://dl.doubtnut.com/l/_Pf6JKQBd2XhX
https://dl.doubtnut.com/l/_jbb5L3dNJOVL


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−4
9

−9

4

9

4

−4
9

61. If x=3 is one root of the quadratic equation

, then find the value of kx2 − 2kx − 6 = 0

https://dl.doubtnut.com/l/_jbb5L3dNJOVL
https://dl.doubtnut.com/l/_TlCC45y4e3Ac


A. 1

B. 

C. 2

D. 

Answer: D

Watch Video Solution

−
1

2

1

2

62. If P is a prime number, then find the LCM of

 and .P 2 P 3

https://dl.doubtnut.com/l/_TlCC45y4e3Ac
https://dl.doubtnut.com/l/_rnGXxvgAqZzr


A. 

B. P

C. 

D. 

Answer: A

Watch Video Solution

P 3

P 2

P 4

63. Find the coefficient of  in 

.

x0

x2 + 3x + 2 = 0

https://dl.doubtnut.com/l/_rnGXxvgAqZzr
https://dl.doubtnut.com/l/_eEGCGOVYk9vA


A. 1

B. 2

C. 0

D. 3

Answer: B

Watch Video Solution

64. Student was given the assignment to

prepare a graph of quadratic polynomial

. To draw this graph he takesy = x2 + 2x − 3

https://dl.doubtnut.com/l/_eEGCGOVYk9vA
https://dl.doubtnut.com/l/_TSEbtj1WioCB


six values of y corresponding to different

values of x. After plotting the points on the

graph paper with suitable scale. He obtain the

graph as shown below. 

A. Hyperbola

B. Parabola

https://dl.doubtnut.com/l/_TSEbtj1WioCB


C. Ellipse

D. None of these

Answer: B

Watch Video Solution

65. Student of class x are on visit of Sansad

Bhawan. Teacher assign them the activity to

observe and take some pictures to analyses

the seating arrangement between various MP

and speaker based on coordinate geometry.

https://dl.doubtnut.com/l/_TSEbtj1WioCB
https://dl.doubtnut.com/l/_Dgutrg8Geh4F


The staff tour guide explained various facts

related to Math's of Sansad Bhawan to the

students, students were surprised when

teacher ask them you need to apply

coordinate geometry on the seating

arrangement of MP's and speaker. 

A. 

B. 6.4

C. 5

√30

https://dl.doubtnut.com/l/_Dgutrg8Geh4F


D. 7

Answer: B

Watch Video Solution

66. If in , AB=9 cm, BC=40 cm and AC =

41 cm then the  is a/an

A. Acute angled triangle

B. Right angled triangle

C. Obtuse angled triangle

ΔABC

ΔABC

https://dl.doubtnut.com/l/_Dgutrg8Geh4F
https://dl.doubtnut.com/l/_3PfDJl2Nww6A


D. Isosceles triangle

Answer: B

Watch Video Solution

67. Find the coordinates of the point which

divides the join of  and 

in the ratio 

A. (1, 3)

B. (3, 1)

A( − 1, 7) B(4, − 3)

2: 3.

https://dl.doubtnut.com/l/_3PfDJl2Nww6A
https://dl.doubtnut.com/l/_DMrOAVfwq1kJ


C. (2, 5)

D. (4, -3)

Answer: A

Watch Video Solution

68. The zeroes of a polynomial p(x) are

precisely the x-coordinates of the points,

where the graph of y=p(x) intersects the:

A. x-axis

https://dl.doubtnut.com/l/_DMrOAVfwq1kJ
https://dl.doubtnut.com/l/_dLyteKviXi1c


B. y-axis

C. origin

D. none of these

Answer: A

Watch Video Solution

69. What is the ordinate of a point on the y-

axis?

A. A positive number

https://dl.doubtnut.com/l/_dLyteKviXi1c
https://dl.doubtnut.com/l/_FSGD3ZVblUM3


B. A negative number

C. Zero

D. All the above

Answer: D

Watch Video Solution

70. If  and  are the zeroes of the polynomial

, then the value of 

α β

x2 − 2√3 + 3

α + β − αβ :

https://dl.doubtnut.com/l/_FSGD3ZVblUM3
https://dl.doubtnut.com/l/_hm6qXeBPqXza


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4√3 − 3

2√3 − 3

4√3 + 3

2√3 + 3

71. The distance between the points (m,-n) and

(-m,n) is

https://dl.doubtnut.com/l/_hm6qXeBPqXza
https://dl.doubtnut.com/l/_JlVoVhEJT6x7


A. 

B. m+n

C. 

D. 

Answer: C

Watch Video Solution

√m2 + n2

2√m2 + n2

√2m2 + 2n2

72. The perimeter of a tringle with vertices

(0,4),(0,0) and (3,0) is

https://dl.doubtnut.com/l/_JlVoVhEJT6x7
https://dl.doubtnut.com/l/_djq38eEcrqcL


A. 

B. 5

C. 10

D. 12

Answer: D

Watch Video Solution

7 + √5

73. The zeroes of the quadratic polynomial

 are:x2 + 99x + 127

https://dl.doubtnut.com/l/_djq38eEcrqcL
https://dl.doubtnut.com/l/_MuxjjnOefLz3


A. Both positive

B. Both negative

C. One positive one negative

D. Both equal

Answer: B

Watch Video Solution

74. The distance of the point (-3, 4) from x -axis

is

https://dl.doubtnut.com/l/_MuxjjnOefLz3
https://dl.doubtnut.com/l/_ueDfsG3yojN3


A. 3

B. -3

C. 4

D. 5

Answer: C

Watch Video Solution

75. Theorem 1.3 : Let p be a prime number. If p

divides a2 , then p divides a, where a is a

positive integer.

https://dl.doubtnut.com/l/_ueDfsG3yojN3
https://dl.doubtnut.com/l/_JCxXD71io8y9


A. 

B. k

C. 3k

D. None of these

Answer: B

Watch Video Solution

2k2

76. A real number a is a zero of the polynomial

f(x) if:

https://dl.doubtnut.com/l/_JCxXD71io8y9
https://dl.doubtnut.com/l/_HvZNQAe4bGko


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(a) > 0

f(a) < 0

f(a) = 0

f(a) ≥ 0

77. If an event cannot occur, then its

propbability is

https://dl.doubtnut.com/l/_HvZNQAe4bGko
https://dl.doubtnut.com/l/_THwAbUHBdpbK


A. 1

B. 1/2

C. 3/4

D. 0

Answer: D

Watch Video Solution

78. If a is a zero of f(x) then, _____ is one of the

factors of f(x).

https://dl.doubtnut.com/l/_THwAbUHBdpbK
https://dl.doubtnut.com/l/_vXZcmqtVW745


A. (x-2a)

B. (x-a)

C. (x+a)

D. (2x-a)

Answer: B

Watch Video Solution

79. If A and B are the points

 respectively, then

the
distance 2AB is equal to

( − 6, 7) and ( − 1, − 5)

https://dl.doubtnut.com/l/_vXZcmqtVW745
https://dl.doubtnut.com/l/_Yiu7A4fVS3wH


A. 13

B. 26

C. 169

D. 238

Answer: B

Watch Video Solution

80.  is:

A. a rational number

√7 − 3 − √2

https://dl.doubtnut.com/l/_Yiu7A4fVS3wH
https://dl.doubtnut.com/l/_lubuxsMKLTcS


B. a natural number

C. equal to zero

D. an irrational number

Answer: D

Watch Video Solution

81. A man goes 12 m due West and then 9m

due North. How far is he from the starting

point?

https://dl.doubtnut.com/l/_lubuxsMKLTcS
https://dl.doubtnut.com/l/_lBhH9yqSIS2N


A. 12 m

B. 15 m

C. 18 m

D. 24 m

Answer: B

Watch Video Solution

82. If  then find

the value of 

x = a sin θ and y = a cos θ

x2 + y2

https://dl.doubtnut.com/l/_lBhH9yqSIS2N
https://dl.doubtnut.com/l/_JrK0qFg1gWBT


A. b

B. 

C. 1

D. None of these

Answer: B

Watch Video Solution

b2

83. The point on x-axis whichis equidistant

from (-4, 0) and (10, 0) is:

https://dl.doubtnut.com/l/_JrK0qFg1gWBT
https://dl.doubtnut.com/l/_AcEEjlRmTBoY


A. (7, 0)

B. (5, 0)

C. (0, 0)

D. (3, 0)

Answer: D

Watch Video Solution

84. If H.C.F. (a, b) = 12 and , then

L.C.M. (a,b)=

a × b = 1800

https://dl.doubtnut.com/l/_AcEEjlRmTBoY
https://dl.doubtnut.com/l/_PstWOyFGTNNE


A. 120

B. 150

C. 160

D. 200

Answer: B

Watch Video Solution

85. ABCD is a rectangle whose vertices are

B(4,0), C(4, 3) and D(0, 3). The length of one of

its diagonals is:

https://dl.doubtnut.com/l/_PstWOyFGTNNE
https://dl.doubtnut.com/l/_HLfKk7CEVi0H


A. 4

B. 5

C. 3

D. 25

Answer: B

Watch Video Solution

86. 

A. 

= ?
(1 + tan2 A)

(1 + cot2 A)

sec2 A

https://dl.doubtnut.com/l/_HLfKk7CEVi0H
https://dl.doubtnut.com/l/_XofAKpN1YrL9


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

cot2 A

tan2 A

87. Case Study-1: A big match of baseball is

going to happen. For this a field need to be

prepared. The field is somewhat triangular in

shape with a semi-circle as shwon in the figure.

https://dl.doubtnut.com/l/_XofAKpN1YrL9
https://dl.doubtnut.com/l/_legHTdQjaIma


 


The area in which pitch is to be made is APRQ

where P and Q are two points on boundary. As

it is an important game, so dimensions need

to be perfect and hence . We

have AP=2x cm, AB=x+4 cm, PQ=x cm and BC=7

cm. 

Answer the following questions: 

=
AP

AB

AQ

AC

https://dl.doubtnut.com/l/_legHTdQjaIma


Which of the two similar  will be used to

calculate the dimensions of the field?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Δs

ΔPQR and ΔAPQ

ΔPQR and ΔABC

ΔAPQ and ΔABQ

ΔAPQ and ΔABQ

https://dl.doubtnut.com/l/_legHTdQjaIma


88. Case Study-1: A big match of baseball is

going to happen. For this a field need to be

prepared. The field is somewhat triangular in

shape with a semi-circle as shwon in the figure.




The area in which pitch is to be made is APRQ

where P and Q are two points on boundary. As

it is an important game, so dimensions need

to be perfect and hence . We=
AP

AB

AQ

AC

https://dl.doubtnut.com/l/_fUnoxW00utjq


have AP=2x cm, AB=x+4 cm, PQ=x cm and BC=7

cm. 

Answer the following questions: 

Which criteria of similarity is used for the

above ?

A. SSS

B. AA

C. RHS

D. SAS

Answer: B

W t h Vid S l ti

Δs

https://dl.doubtnut.com/l/_fUnoxW00utjq


Watch Video Solution

89. Case Study-1: A big match of baseball is

going to happen. For this a field need to be

prepared. The field is somewhat triangular in

shape with a semi-circle as shwon in the figure.

 


The area in which pitch is to be made is APRQ

where P and Q are two points on boundary. As

https://dl.doubtnut.com/l/_fUnoxW00utjq
https://dl.doubtnut.com/l/_lMU9zRBVcG6A


it is an important game, so dimensions need

to be perfect and hence . We

have AP=2x cm, AB=x+4 cm, PQ=x cm and BC=7

cm. 

Answer the following questions: 

To help the pitchmaker, transform the relation

, into a quadratic equation in x.

A. 

B. 

C. 

D. None of these

=
AP

AB

AQ

AC

=
AP

AB

PQ

BC

x2 − 10x = 0

x2 − 14x + 2 = 0

x2 + 14x − 2 = 0

https://dl.doubtnut.com/l/_lMU9zRBVcG6A


Answer: A

Watch Video Solution

90. Case Study-1: A big match of baseball is

going to happen. For this a field need to be

prepared. The field is somewhat triangular in

shape with a semi-circle as shwon in the figure.




https://dl.doubtnut.com/l/_lMU9zRBVcG6A
https://dl.doubtnut.com/l/_XWkjs3LkWYSm


The area in which pitch is to be made is APRQ

where P and Q are two points on boundary. As

it is an important game, so dimensions need

to be perfect and hence . We

have AP=2x cm, AB=x+4 cm, PQ=x cm and BC=7

cm. 

Answer the following questions: 

Find the value of the 'x' in the equation

.

A. 8

B. 10

C. 7

=
AP

AB

AQ

AC

x2 − 10x = 0

https://dl.doubtnut.com/l/_XWkjs3LkWYSm


D. 4

Answer: B

View Text Solution

91. Case Study-1: A big match of baseball is

going to happen. For this a field need to be

prepared. The field is somewhat triangular in

shape with a semi-circle as shwon in the figure.

https://dl.doubtnut.com/l/_XWkjs3LkWYSm
https://dl.doubtnut.com/l/_amuBJ06FwCbP





The area in which pitch is to be made is APRQ

where P and Q are two points on boundary. As

it is an important game, so dimensions need

to be perfect and hence . We

have AP=2x cm, AB=x+4 cm, PQ=x cm and BC=7

cm. 

Answer the following questions: 

What will be length of the side AP?

=
AP

AB

AQ

AC

https://dl.doubtnut.com/l/_amuBJ06FwCbP


A. 10 cm

B. 20 cm

C. 5 cm

D. 8 cm

Answer: B

Watch Video Solution

92. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

https://dl.doubtnut.com/l/_amuBJ06FwCbP
https://dl.doubtnut.com/l/_P7o55tXzqtTH


secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

cotagent are simply the reciprocals of teh

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

shown in the table below: 

 


α

https://dl.doubtnut.com/l/_P7o55tXzqtTH


 


What is the value of , when the

values of  and  are respectively  and 

?

A. 1

B. 1/2

C. 2

D. 0

Answer: A

sinα + cos β

α β 30∘ 60∘

https://dl.doubtnut.com/l/_P7o55tXzqtTH


Watch Video Solution

93. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

cotagent are simply the reciprocals of teh

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).α

https://dl.doubtnut.com/l/_P7o55tXzqtTH
https://dl.doubtnut.com/l/_OMlWjyh5sG5g


Some such values for the angle of triangle are

shown in the table below: 

 


 


Find the value of .

A. 0

B. -1

(sin2 300 − sin00)

(cos2 90∘ − cos2 60∘ )

https://dl.doubtnut.com/l/_OMlWjyh5sG5g


C. 1

D. 1/2

Answer: B

Watch Video Solution

94. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

https://dl.doubtnut.com/l/_OMlWjyh5sG5g
https://dl.doubtnut.com/l/_N1ELT2hCNFbP


cotagent are simply the reciprocals of teh

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

shown in the table below: 

 


α

https://dl.doubtnut.com/l/_N1ELT2hCNFbP


 


If  and , determine the value

of .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α = 90∘ β = 60∘

sin2 α + sin2 β

4

5

3

5

7
4

5

3

https://dl.doubtnut.com/l/_N1ELT2hCNFbP


95. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

cotagent are simply the reciprocals of teh

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

α

https://dl.doubtnut.com/l/_N1ELT2hCNFbP
https://dl.doubtnut.com/l/_6VTjNTc6BLG5


shown in the table below: 

 


 


If both , find the value of 

.

A. 1

B. 2

α and β = 60∘

sin2 α + cos2 β

https://dl.doubtnut.com/l/_6VTjNTc6BLG5


C. -1

D. -2

Answer: A

Watch Video Solution

96. Case study-2: There are in total six

trignometric ratios, namely sine(sin), cosine

(cos), tangent (tan), cosecant (cosec),

secant(sec) and cotagent(cot). The

trigonometric fuctions cosecant. Secant and

https://dl.doubtnut.com/l/_6VTjNTc6BLG5
https://dl.doubtnut.com/l/_NNFc5P4HRdwi


cotagent are simply the reciprocals of teh

trigonometric fuctions sine, cosine and

tangent for the angles of a triangle. The values

of these trigonometric ratios gives a certain

rational for some values of angle (say, ).

Some such values for the angle of triangle are

shown in the table below: 

 


α

https://dl.doubtnut.com/l/_NNFc5P4HRdwi


 


If in the triangle ABC the lengths of sides AB

and BC are in the ration of 13:5, find the value

of cosec .

A. 

B. 

C. 

D. 

Answer: D

α

5

13

8

13

13

8

13

5

https://dl.doubtnut.com/l/_NNFc5P4HRdwi


Section A

Watch Video Solution

1. Prove that the tangents drawn at the ends

of a
diameter of a circle are parallel.

Watch Video Solution

2. For what
 value of 
 are 

are three
consecutive terms of an A.P.?

p 2p + 1,  13,  5p − 3

https://dl.doubtnut.com/l/_NNFc5P4HRdwi
https://dl.doubtnut.com/l/_7P0eNOqVY1hK
https://dl.doubtnut.com/l/_zcOYeAROeF6f


Watch Video Solution

3. 

Watch Video Solution

abx2 + (b2 − ac)x − bc = 0

4. Two types of water tankers are available in a

shop. One is in a cubic form of dimensions

 and another is in the

cylindrical form of height 1 m and diameter 1

m. Calculate the volume of both the

containers. (Use  = 3.14)

1m × 1m × 1m

π

https://dl.doubtnut.com/l/_zcOYeAROeF6f
https://dl.doubtnut.com/l/_geUibFJJYN8Y
https://dl.doubtnut.com/l/_8LOcVEiLZzVF


Watch Video Solution

5. Find the mode of the following frequency

distribution: 

Watch Video Solution

6. Find the number of natural numbers

between 101 and 999 which are
 divisible by

both 2 and 5.

https://dl.doubtnut.com/l/_8LOcVEiLZzVF
https://dl.doubtnut.com/l/_aHtpiFkc74U1
https://dl.doubtnut.com/l/_fFOi2IWSd5G6


Section B

Watch Video Solution

1. Find the mean and median for the following

data: 

Watch Video Solution

2. The angle of depression of a car standing on

the ground from the top of a 75 m high tower

https://dl.doubtnut.com/l/_fFOi2IWSd5G6
https://dl.doubtnut.com/l/_5EfTQI5AQRxL
https://dl.doubtnut.com/l/_92lZo5M0EZTB


Section C

is . Find the distance of the car from the

base of the tower (in m).

Watch Video Solution

30∘

1. The horizontal distance between two poles

is 15 m. The angle of depression of the top of

the first pole as seen from the top of the

second pole is . If the height of the second30∘

https://dl.doubtnut.com/l/_92lZo5M0EZTB
https://dl.doubtnut.com/l/_lZIc2xkChoWc


pole is 24 m, find the height of the first pole.

[Use  = 1.732]

Watch Video Solution

√3

2. Amit was playing a number card game. In

the game, some number cards (having both

+ve or -ve numbers) are arranged in a row

such that they are following an arithmetic

progression. On his first turn, Amit picks up

6th and 14th card and finds their sum to be

-76. On the second turn he picks up 8th and

https://dl.doubtnut.com/l/_lZIc2xkChoWc
https://dl.doubtnut.com/l/_7t6Jn6qEfOWG


16th card and finds their sum to be . 


Based on the above information, answer the

following questions. 

What is the difference between the numbers

on any two consecutive cards? 

Watch Video Solution

−96

https://dl.doubtnut.com/l/_7t6Jn6qEfOWG


3. Amit was playing a number card game. In

the game, some number cards (having both

+ve or -ve numbers) are arranged in a row

such that they are following an arithmetic

progression. On his first turn, Amit picks up

6th and 14th card and finds their sum to be

-76. On the second turn he picks up 8th and

16th card and finds their sum to be . 


Based on the above information, answer the

following questions. 

−96

https://dl.doubtnut.com/l/_7t6Jn6qEfOWG
https://dl.doubtnut.com/l/_Vn7W0W41KLm5


What is the sum of  card ? 

Watch Video Solution

9th and 15th

4. For class of 10 students, a teacher planned a

game for the revision of chapter circles with

https://dl.doubtnut.com/l/_Vn7W0W41KLm5
https://dl.doubtnut.com/l/_e9rjcaUSySIh


some questions written on the board, which

are to be answered by the students. For each

correct answer, a student will get a reward.

Some of the questions are given below. 

 


https://dl.doubtnut.com/l/_e9rjcaUSySIh


In the given figure,  = 


Watch Video Solution

x + y

5. For class of 10 students, a teacher planned a

game for the revision of chapter circles with

some questions written on the board, which

are to be answered by the students. For each

correct answer, a student will get a reward.

https://dl.doubtnut.com/l/_e9rjcaUSySIh
https://dl.doubtnut.com/l/_ctyOXWEU5XEl


Some of the questions are given below. 

 


If PA and PB are two tangents drawn to a circle

with centre O from P such that ,

then =

Watch Video Solution

∠APB = 50∘

∠OAB

https://dl.doubtnut.com/l/_ctyOXWEU5XEl


https://dl.doubtnut.com/l/_ctyOXWEU5XEl

